This number has 2 digits.
The tens digit is a 3.
The ones digit is smaller than 7 but bigger than 5.
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This number has 2 digits.
The ones digit is O.

There are 5 tens in this number.
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This number has 2 digits.
The ones digit is smaller than 4 but bigger than 2.

The tens digit does not have the numbers 1, 3, 4, 5,
6,7, 8 or9.
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This number has 2 digits.
It is less than 50 but more than 40.

The ones digit is the same as 4 + 4.
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The number has 2 digits .
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The tens digit is less than 1.

The ones digit is bigger than 4 but smaller than 6. The ones digit is the same as the tens digit.

The tens digit is small than 5 but bigger than 3. The hundreds digit is one more than the tens digit.

It is smaller than 50.

It is bigger than 30.
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